Solve all exercises. Staple them to this sheet.

X +3x—4 3x*-12x 9x° -36
X2 —3X+2 2x242x x2—x-2

1. Perform the indicated operations and simplify: (

(@) -5(7-2)+6(-1)°-7(-6+4)* -6 (5-8)

~ 4. Simplify:
(b) 6x€7+x* + €3x &+1°-3€+1{x-1)+(x* +2)° Sl
2 3 16x°y2z2 ) 490x 1y 7%\’
© [-L)+q2-1) 3(2.3), (.1 @ | 7 ©) | ooz
3 4 2) 54 5) 6\ 2 100x"y ™z 35x "y z
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6N\ 2 3 2 2 3 5. Rewrite the following expressions without using the absolute value

~ symbol and simplify:
(€)4x° € +3 -5x€+1>+2x—4+3x’

@ |-3+[8-|-3-2|-3+4-1-]-2]  (b) [x-3 ifx<-3

2. Factor completely:

©) |x+4] if x>-4 (d) [x+5 if x<-5
(@) 2x* —6x—8 (d) x* +6x—27
(b) x* +7x+10 (e) 4x® —20x* —24x (6) x4 if x<0
(¢) x* +9x* —10x 6. Find the simplest radical form:
3. Factor and simplify: (@) \/)({_42 (b) &Zi , © \/;—X_ 11 k(S
@ 2(2—x2—2 X’ +24x—5+ x22+3x—10
2X° +4Xx° —6x x“ -1 3X° +18x + 27 5
© 1W ) 3 240xy Q) 4 80xy“z

12xy’z 45x°y4z3
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. Solve the following equations:

(a) —3€—3x +3€x—2 =-3x—5x
~12
(b) - @x+3 3 4€x+1 ) 3x=-2x+43+5x

(c) —4x*+400=0

(d) x* -11=67

(e) 2x* —=3x—-5=0

(f) 8x2+7-15=—7

(9) 8x* +4+4x=20—-x°
(h) 2x—/2+x = 4x

(i) V2x =x-1

Q) 2x_1=4x

X+1 x-1 x*-1

2X 1
kf —=—"-—
(9 x-1 3x-3

8. Solve the following inequalities:

2X+7 5x-3
>
5 2

(a)

1 5x-6

(C)ES <7

(e) —6x+4<2x+1<8x+4

(0) 8x>2x+2—-3x>2—-4x

1 5x-6
b) =<
()2 4

(d) 5x >X%3

(f) 2x<3x+4<4x-2



